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QUESTION 1

Consider the following scenario for your database: 

Backup optimization is enabled in RMAN. 

The recovery window is set to 7 days in RMAN. 

The most recent backup to disk for the TOOLS tablespace was taken on November 3, 2007. 

The TOOLS tablespace is read-only since November 4, 2007. 

On November 23, 2007, you issue the RMAN command to back up the database to disk. Which statement 

is true regarding the backup of the TOOLS tablespace? 

A. The RMAN backup fails because the TOOLS tablespace is read-only 

B. The RMAN skips the backup of the tablespace because backup optimization is enabled 

C. The RMAN makes backup because optimization can be enabled only for backups to disk 

D. The RMAN makes the backup because no backup of the tablespace exists within the seven day window 

Correct Answer: D 

 

QUESTION 2

You are working on a database that was created using Oracle Database 10g, the default tablespace type property was
not changed. You execute the following statement to create a tablespace, mytbs: CREATE TABLESAPCE mythbs
DATAFILE \\'/u1/data/mytbs.dbf\\' SIZE 100M; Which two statements are correct regarding the mytbs tablespace?
(Choose two) 

A. It is a smallfile tablespace. 

B. It is a bigfile tablespace (BFT). 

C. It is a default bigfile tablespace. 

D. It is a locally managed tablespace. 

E. It is a dictionary-managed tablespace. 

Correct Answer: AD 

 

QUESTION 3

The DB_BLOCK_CHECKING parameter is set to FALSE. 

What level of block checking will be performed? 
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A. The Oracle database will not perform block checking for any of the data blocks. 

B. The Oracle database will perform block checking for the default permanent tablespace only. 

C. The Oracle database will perform block checking for the data blocks in all user tablespaces. 

D. The Oracle database will perform block checking for the data blocks in the SYSTEM tablespace only. 

E. The Oracle database will perform block checking for the data blocks in the SYSTEM and SYSAUX tablespaces. 

Correct Answer: D 

 

QUESTION 4

Which client requests to the database can be captured as a part of the workload capture? (Choose all that apply.) 

A. flashback query 

B. distributed transactions 

C. logging in and logging out of sessions 

D. all DDL statements having bind variables 

E. direct path load of data from external files 

Correct Answer: CD 

 

QUESTION 5

You want to create a consumer group, GROUP1, and you execute the following command in the command-line
interface: SQL> EXEC DBMS_RESOURCE_MANAGER.CREATE_CONSUMER_GROUP (CONSUMER_GROUP
=>\\'group1\\', COMMENT => \\'New Group\\'); This command errors out displaying the following message: ERROR at
line 1: ORA-29371: pending area is not active ORA-06512: at "SYS.DBMS_RMIN", line 115 ORA-06512: at
"SYS.DBMS_RESOURCE_MANAGER", line 108 ORA-06512: at line 1 What action would you take to overcome this
error? 

A. activate the Pending Area before creating the consumer group 

B. create the Pending Area before creating the consumer group 

C. increase the size of the database buffer cache to accommodate the Pending Area 

D. increase the size of the shared pool to accommodate the Pending Area 

E. increase the size of the large pool to accommodate the Pending Area 

Correct Answer: B 
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